Math 206 - Test 2 Name ___Keu
March 14, 2012 - Score

Show all work. Supply explanations where necessary.

1. (4 points) The pH level of the water in a volcanic hot spring was measured daily for
15 days. The data are shown in the diagram below.
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(a) What is the name of this type of display?

STin.’AND - LU\? PLOT

(b) What are some of the advantages and disadvantages of this type of display?

ABVANTA&&S.‘ /‘\LL DATA \S SHowN. DATA (LN NumeeicAL OROER,
Taewing pior SIDEwAYS RESEMBLES A BAR grApH Or MNTO7E
SHows DISTRIGUTION OF DATA,
DeASVANTAges: NoT goon For LARGE COLLECTIONS OF DATA.
(c) Could a line graph be an appropriate type of display for this data? Explain.
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(d) What was the median pH level?
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2. (3 points) An experiment has two outcomes, O; and O,, with probabilities 4/7 and
3/7, respectively. Explain how this experiment could be simulated.
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3. (3 points) Consider the following collection of test scores

98 52 98 45
37 45 98 T9.

(a) Without using your calculator’s statistical features, find the mean, median, and
mode of the test scores
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(b) Which is not an appropriate measure of the center of the data set and why?

JHe mone IS MOT AppPreopriATE

BECAUSE \T

Doesn' T RePRELeOT THE “canTe’ OF THe DATA .
4. (6 points) The boxplot shown below describes a certain collection of data. Find ap-

proximate values for the median, first and third quartiles, and the interquartile range
Based on your approximations, what would be the cutoff values for outliers?
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5. (3 points) Following are the ages of 30 children who participated in Krug School’s
science fair.

10 10 11 10 13 8 10 13 14 9
14 13 10 14 11 9 13 10 11 12
11 12 14 13 12 8 13 14 9 14

(a) Sketch a line plot (dot plot) that displays the data.

See ATTACHED qRARH PAPU?--.

(b) Use your calculator to compute the standard deviation.

o = 1.9\

6. (3 points) A contestant on a game show must select a suitcase containing money or be
paid by the host to stop playing. There are 10 suitcases: six contain $10, two contain
$100, one contains $1000, and one contains $10000. How much should the host pay
the contestant to stop playing? (Hint: Think about expected value.)
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7. (5 points) Fred has ten projects that are due next week. He has already decided that
he will not do any of them on Saturday or Sunday. So he has ten projects that he
will randomly schedule on the five remaining days. (Each project will be randomly

assigned a day.)

(a) Explain how Fred could use a random-digit table to assign his projects to days.
Thie @ e e Montana Ducx HunTer Proe L. Picie 10 DIGQITS -+
ONE Fore EACH ProjecT. [F THe DIGQIT IS O-|, THE preojecT It DONE
MonwbAY , 3-3 Tues, H-5 Weo, -7 THurt, 8-9 fei.

(b) Use your random-digit table to do eight trials.
Y TT7705 a8®9( = Th,Th,Th,M, W, T, §F,F m
@ 12106 5639\ M,T, M, M, Th, W, T, T, F M
® @6932Q 66\ = FTh,T.TT, ThTh, M,M,Th
@ 3996 06080 = T, F,Tn, T, Th, M, Th,M, F, M

(c) Based on your trials, what is the probability that Fred will have at least one day
off (in addition to Saturday and Sunday).
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8. (3 points) A paper company made an annual revenue of $275 million: $26 million from
the sales of toliet paper, $38 million from the sales of paper cups, $20 million from the
sales of paper plates, $32 million from the sales of tissues, $120 million from the sales
of napkins, and $39 million from the sales of miscellaneous other paper products.

(a) Explain why a circle graph is particularly appropriate for displaying this data.
CWeCLE QRARDH \S DERFECT Forx IHOWM
A e qRAR P A
pox‘a‘\'nomﬁ OF A WHOLE.

(b) Recall that there are 360 degrees in a circle. Suppose you constructed the circle

graph corresponding to the data above. What should be the degree measure of
the angle in the portion associated with napkins?
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9. (4 points) For each of the following situations, tell which type of graph would best
display the data. Choose from line plot, bar graph, histogram, line graph, stem-and-leaf
plot, or circle graph. Give a brief explanation to support your answer.

(a) A company has expenditures that can be grouped into seven broad categories.
Company executives would like to make a graph showing how the expenditures
are divided among the seven categories.

T\-\E EXECUTIVES WANT TO SHOW QAQ‘V& o%

A WwoLt - Tiey SHouln USE A C\RCLE GRAPM.
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(b) Emma is writing a report about Greenland. In her report she would like to include

a graph that shows the values of the five highest grossing exported products in
2010.

EMN\A WLl PQOQA&L\;() SHoWw NOWAR AMOUNTS
ASSOCIATED WI\TH Tde 5 LNDWADUAL P\ZOD\A,QTS.

Sue SHoud USE A BAR QrapH.

(c) The National Center for Health Statistics keeps detailed records on the births and
deaths of US residents. What type of graph would best display the birth weights
of US babies in 20107

B\QTH WEWONTL ARE (_‘o,g"\’\r\)kk()\,kg. DATA .
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H\%TOSQAM WOULL RE RELT.

(d) Mr. Smith has been keeping track of the daily price of IBM common stock. He
would like to make a graph showing how the prices have changed over the last
three weeks.
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10. (3 points) The class mean on a reading test was 27.5 out of 40 possible points. The 19
girls in the class scored a total of 532 points. If there were 11 boys in the class, what
was the mean of the boys’ scores?

Sum oF AL ScoreS = (a+i)x a7.5 = B8as
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11. (2 points) Willis scored 95 on a test with mean 82 and standard deviation 8.4. Gloria
scored 193 on a test with mean 156 and standard deviation 22. Compute their z-scores.
Who had a better score?
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12. (3 points) Joe had scores of 90, 95, 85, 90, and 20 on his tests. Without computing
them, which measure of center (mean, median, mode) do you think Joe would want
his teacher to use for his “average” test score? Explain.
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13. (8 points) Following are the weights, in pounds, of 15-day-old pigs raised on two dif-
ferent feeds.

Feed A: 7:2,9:8,12:3, 131,133, 84 10, 11-6, 9.9, 11-5, 5K, 9.8712.2, 12.3

Feed B: 6:8,8:5,95,9:2,10.1,11.3, 1+7, 7.9, 7.5, 13.3, 62,58

(a) For each data set (separately), compute the median, the first and third quartiles,
x the IQR, and the outlier cutoffs.
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(b) On graph paper, sketch the boxplot for each feed. Sketch one boxplot above your
number line and one boxplot below.

See ATTACHEY SHEET.

(c) Compare the boxplots. Which feed is better and why do you think so?
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